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Gaurav give 3 articles free on purchases
of 5 articles. He also allow a discount of
9 R0% and still earn 25% profit. Find the

e o wge —g

BuysGers
atio of cost price and mark price.

+20°/. Nxa 5 agat @ @ W 3 Y g <dl
DAR) ag 20% wecer 2ar 2 sk fR +ft 25%

At HAT B | @ BT Hed 3R dfda g
Bm’t’qe"t’ﬁ'&mmﬁmﬁaﬁaﬁml
l (a) 2:8 (b) 3:2
V) 2:5 (d) 2:6
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Azad give 1 article free on the purchase

tBWa ISC\d' \ F‘{(L of every IS' article. He also allow a
discount gf 4% to customer and still
l +(1/ D\)Learn a @ profit. Find the ratio of

CP:MP.
ITSlTE 15 IXG3T ®I @ W 1 I& o

Bﬂﬂqq&|cﬁ%ﬁélaﬁma§aaﬁﬁaﬁ€m%mm

35% &1 ™9 AfTd HXaT & | HT oI 3R
P e BT JTUTT ATd DI |
|C — =)0/ o2:3 (b) 2:6
16 (c) 3:2 C?-.NP(d)Z:S
ok ' ay @
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Despite giving a discount of 11.11% on

&P SP the markup price. Profit i equal to
.66%. What is the % markup over c.p

ETTV P 7
MF K c fbd oI T 11.11% @1 8C <1 $ 99T

_5: — “'6.66% & AT YT BIal @ A1d B 9] &I
S

fa%a o1 %9 Jea 4 fvaar % fdre sifea
? far ram 2 |
Mr_ q (a) 14.28% (b) 28.56%
C P S_ ) 20% (d) 25%



The cost of two watches were in the
ratio 16:23 the cost of first watch
increase by @ and that of second by
Rs 477. Now the costs of two watches
are in the ratio of 11:20. The price of

second watch in starting was.

<l ufeal & arra 16:23 & U H o,
Ugoll HS! @ aNTd ¥ 10% ¢ Wrdl & 30N
T @ BMd d © 477 9 < "feAl @

%ﬁqﬁnzoﬁ%‘wﬁa}mﬁ{ﬂﬁﬂtﬂaﬁ
#—?\ (a) 932 J,bf1219®
1696 d) 848
2 x$3 (c) (d)
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If an article is sold on 4x% discount
then it sold at 20% loss and if only x%

discount is given then it sold at 25%
ﬁ e
profit find the value of x.

Ife Ud a%q 4% B W 491 oal & dl q8
20% @& g1 4 faad 2 aur afe dad x%

@l B2 < Wrdl @ d 25% & o IR g
g X P A B m

Ratin Somaa JA10.71% (b) 11.32%
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(d) 9.87%
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(c) 14.85% 1
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MP of a article is 37.5% more than it

MP CP Sr P CP. If SP and MP both are incre%%d by

“ % I \ 443% then profit beczges 3 times. If

the initial MP of chair}s 850 then find
initial SP of article?

Ud 9% &1 3AfHhd g YD HI I ¥ 37.
5% 3ferd = | Afe fapa 4ea AR sfea g

ﬁﬂfﬁmg%waﬁaﬂaﬁe,ﬂma
orar B A 9% b1 IRPe Sifed qeu

3850 &, dI W &I YRS [AHa Jea @
& |
W 3600 (b) 450;5"*"“

(c) 3150 (d) 4050




MP of a article is 37.5% more than it

MP CP Sf P cp_1f SP and MP both are incre%d by
Ve ) ()
<310 ‘%:L 3
Ophan

then profit becomes 3 times. If

'-‘r‘;"
initial MP of chair“fs 3850 then find
tial SP of article? “

9% &1 3AfHhd Yed IUD HI I 9 37.
e 2| Aafe fawa e Ak sfea 1o

'ﬁmgﬂfuwaﬁmaﬁaﬂm‘é

ol © | A 9% 1 URMS difed oA

(b)45;3;"“”MhH*

(c) 3150 (d) 4050
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Ratio of MP and CP of an article is 11:7
when 4x% discount is given on MP there

m.._. _‘_l_,-:.—.. '00*'2“!_ is loss of 2x%. find the loss% on article.
(P ‘_[_ 100 -UN_ Wma%afﬁﬁr{aﬁmqﬂm
U 11:7 ® A JAfdd W 4x% &1 8 <
l,‘ Ol @ 2x% @1 g9 8l 8 BT % 0d
=302 o1
"""'-"32 (a) 63% (b) 27%%
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An_article is marked x% above the cost
- 2
W"M“‘bewm discount of EK% is given on the
marked price. If the profit is 4% of the
'4 % z cost price and value of x between 25
. AN - 'i'_x and 50 then the value c @ of x is.
. ﬁ % 3feIdh

3“‘? %] &1 JAfdhd oI ¢
U\ ’)L- R R T e Jfdd Joa W %x%ﬂ)‘r

qcer faar war) afe am a9 4o &1 4% @
aT % mﬂﬁzsam50$ﬂwﬁa?%

D 50% BT
(a) 20 N= '30(1-.) 16 L“H\W
W15( i)

(c) 12



The marked price and the cost price of a
M f C-P watch are in the ratio 7:5. The discount

'4- $ % offered before it sold and profit %
made on it are in the ratio 20:21. Find

'D- / the profit%.
__.l.-'-"-Qo Ud a%] b1 3ifbd qou qAT $I oI @I
P/ :\)| JFUIT 7:5 & TAT € % AT A % Bl

D 212 a a9 % Srd B |
JuTd 20;21 u
mpe 3‘4 - Qﬁ (a) 16.33% uﬁf 17.14%

_EJ( — (c) 21% H (d) 20%
S X pgie s Ohy
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Gaurav marks up an article by p% gives

iscount of —E“fu and gets a profit of

.] Had he marked up by g% and

gives a discount g% . What would be his

profit.
MG 9 UH I BT 4 p% Tl AR %]

R %%aﬁ BC Q1 @ dIdv[a %% HT AT
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An article is marked at 12.5% above Cp.
It is sold at by allowing at 3 discount of

14.28% . x% and 22.22%. If there is loss
PR— h
0 Jon article find the value of x.

U R 3ifPd g 9 a7 ¥ 12.5%
91 dY JfeNI{Par T gual &9 Hihe
8T 14.28% x% IN22.22% <1 & dIg 49

fear| afe agg =t 37.5% @1 I
gdl dl x &1 419 S 3 | 3

(a) 12.5 \wﬁs.ee

c) 18.18 (d) 22.22 &5
Joo S50

I
]



2
Successive discount of 22%%, 14— %

7
and 6.25% is equal to

di| v 2229 142 9 o 6.25%
9 /7 7

®! 8C f6ud IR 2 |
(a) 35% (b) 33.33%
(c) 31.25% v«ﬁ 37.5%




r _ A shopkeeper marks hi ds ,70“/}
qQ 31{ 261‘ above the CP and gives: 37.5% }scount
to customer. At _the time of selling the

Me goods he cost ¥ss amount. Find
/ kﬁi‘s‘.vfi&r't:vfii:‘“'/«;:. 30_0_
2|00 TP IHFER TN awgan WS T @

N

70% 3JAf® 3ifed HXdAr & 3R YT8D Bl 375

QZS"Q(W 4c¢cl qdl ® 49d 9HY d8 191 %@
] 21

}2Y/. 9 BT GANT HRAT & % o1 91d

S%l{f’ (a) 24.75% (b) 37.5% Q\N‘RG?S
)20\) (c) 40% 31.25% -!55:!{ 20y




A milkman profess to sell his milk at
14.28% discount but he mixes some
water in it thus he gain x% profit. The
ratio of water to milk in mixture is
29:48. Find the value of x.

Ud o gF &l 14.28% BT W 994 &I

TMET &Ndl & odfed WX 399 gt fiamar 2@
G‘ﬁx%aﬂﬁﬂﬂ %ﬁmﬁwgﬁh\’

q\ﬂfﬂﬂﬂtﬂﬁ dl x &1 49 9

f'\a‘a‘lfl
(2) 37.5 (b) 32.5

c) 30 (d) 40




Gaurav sell a racket whose marked price
is Rs 30, at a discount of 15% and gives
a shuttle cock costing l@ee with
each racket. Even then he makes profit
oﬂ20%>his cost price per racket is.

TR 30 9 3ifbd oI drell Tdh IDT 15%
gcc WX §d1 TE dAT 1.50 $UF dlell TP T

HY ga < A al H S8 20% BT @ gl
g dl ¥BT &1 HT oI IR0 2
(a) 21.00 (b) 21.25

@ ud 20.00 (d) 1975.




2 0O
C_P S? P A person sells T.V. at ltt‘:i§ %o profit. If he

60 +0 |O§ts profit equals tQ 20% of SP. Then his

in would be equal to (5% of CP + 115)
FY 1Y Sugse then CP of T.V will be.
o3 afth td dIdl. & SUD HI YA D

16%%%@3% e | afe SS9+ 99 fasy

® 20% WX b §XMEX oM U 991 Sfrdr dl
SUPBT o™ (T oI &1 5%+115) 3fera @l
Sirdl ELdl. &1 T o STd DY |

(a) 8050 (b) 6900

(c) 1180 (d) 11500 ,
Q‘Ak‘ih’ N_o




. x buys pens and pencils at Rs S and
?w W Rs.1 per piece respectively {For every two

C P 5 \ pens, he buys three pencilnge sold pens
/"\ and pencils at 12% and 10% profit
Q Q 3 respectively. If his total sales are 725.

Pre— pr— Then the number of pencils exceeds the

'0 é) number of pens by?
zﬂﬂ +|

0/x 79 # 91 3R IR @hear § 5 3 1 TR

33 9f TH3T FAA: 97 TAF  FAA! F TG die

IY.6 ¢ IR wlaa ¥ 3w 9 I A -

|__,$0 2%3?1“{10%a;marqtamlﬂﬁ3'ﬂa?rgo—or

(a) 25 UB) 50 Rt vt 725. i dftvet Y siwar 9 A s
(c) 75 (d) 90 3 yfers ¥



Cost price of 22 articles is equals to

CP — \1'_ S.P of 17 articles while S.P of 19 amlﬁ.
SP a 2 ADT .P of 11 articles? Find ths\profit
Q W &;‘ ge and discount percentage?

22 IEII F1 FF AeT 17 a3 & @FT qo7

MP: lﬂm%aﬁ‘gwmﬁwﬂﬂﬁ

: FEd | & ﬁﬁ%«? % GIEGIE R IGEG
=" 3Noe qﬁnmﬁm 2N?
¥ (a) 29.32% (b) 28.40%

one of these

(c) 21.56% UA @



C < granges and gets 10% profit find the
value of x? e

UF HEH x% A RfFga Ftar § 3K A1 5
m’tuﬂaﬁwmmmmﬁo*%az{

dl x FT A AT FL? % q

qen
H}@, (a) 64 (b) 100 )
16 (d) 264 N\
RSO

Iw-sg_ 25

m oranges by and
) provided scheme "7 oranges free on buying
e
X

+loY.




Ronita marked on article z% above its C.P

P and then after giving a discount of 10%

QN sold it at Rs. 630Q,if the respective ratio of

(-’ ~630 cost piece and selling price of that article
is 7:9 that find the value of z?

TFh aFd W FT {ed ¥ 2% IUF Ao
Ffaw Fer § 3R BT 10% #ir 8¢ 33 97 59
630 7% # dch ¥ IR 3@ aFqg ¥ FAeT IR
A% Heq F WA I 7;9 8 @ z F

AT AT HIAT?
(a) 400/7% W1 300/ 7%
(c) 300/11% (d) 330/11%




The price of 28 chairs is equal to that
of 6 tables. The price of 18 chairs and 3
tables together is Rs.4800. the total price
of 15 chairs and 6 tables is?

28 FAAT F FAra 6 A A FAT F W 3
18 Ff 3 3 At 71 v W AT 4800
Y3ac— s ¥ @ 15 g Ak 6 At A A Fw

, S (a) Rs.6150 (b) Rs.6250
l13 (c) Rs.6350 dﬁrRs.6450 @




In a certain store, the profit is 320% of
(¢ ¢ s° P

the cost. if the cost increase by 25% but
Im gab "IQ'O the selling price remains constant,

(_ MWhat percentage of the
lQ$ qqs “lab selling price is the profit?

v faftad TR # 320% o7 § I fwa
25% ¥ d¢ It ¢ IR RFT g7+ ®ar ¢ Fa=
% I AFT Aeq o wfaerd g2

(a) 40% (b) 50%
(c) 60% JSH 70% @




The ratio of S.P of the three articles is

S? q 0 31‘ ‘16 40:37:46 and ratio of profit % is 5:4:7. The

cost price of first and second articles are
P‘/ sgme and the cost price of third article is

Sﬂ "1‘3 :F\J 480. Find the total cost price of all the

h opthree articles? i
607/ {87 \,3‘1/3}’3@3;(3,. lﬁ.n,-q L:&‘%r"%vm 40:37:46 ¥
("% N R0

\"? \y2< 3% AT gfaed FT HqUTd 5:4:7 § geh AR
O - CF‘WWWWW%WME@
]eo.l.sb m\' FT FT 7T AW ¢ AR AW a67 F1 F7 7oq
3 480 T4 ¢ o il ¥ FT FT FT AT FT

300~ ame VY0 "T§-
@Yg '180%3 @ 1240 Iool.dlﬁ(; 1540 mlﬁ}_%
\leT 1440 (d) 1540 lay-42¢







A shopkeeper buys 60 oranges at 10 for
Rs 72, and an equal number at 12 for Rs
90. He spends Rs.118 on the transaction
and sells all the oranges that he buys. If
there is a profit of 26% in the entire
transaction then what is the selling price
of 32 oranges?

UF gFEGR 60 HaX 10 9T 72 393 & @llgan
¥ 3k vF wAR ' 12 W 90 9 A wlear
¥ I deeeT 9T 118 TU4F @F aar § IR a®
weft HaY 9T § S 9§ TledT § I Q dAee
A 26% B Fiar g ar 32 ¥ F1 AFT 7qo7
T &7

A 336 (b) 313.60

(c) 316.80 (d) 320




Shyam sold an article for Rs.3960 after
giving 3 successive discounts of 20%, x%
& 10% respectively. Find the profit of
Shyam, if he had given only one discount
of n on MRP (comparing with the

previous selling price), it is given that the
MRP=Rs. 62507

qgr A FAA: 20%, x% 3T 10% & 3 HAF

T ‘)L .
\ Maﬁa;mwaﬁaﬂsgsomﬁaml

')(;‘QI 3qs0awmmm£fﬁv afe 38a AT qoa
345 (ﬁﬁﬁmmaﬁmﬁ)wmmxw)
% # Fe ar 91, Ig &7 Jran Hfhd Hed

l" 3:’$ 250 9 §?

Rs.415 (b) Rs.375
(c) Rs.325 (d) Rs.435



Ravi sells nine headphones at a profit of
Rs 116 per head phone and sells fhree
headphones at a loss of Rs 52 per
headphone. If the total percentage profit
on all the headphones sold is 8% the cost
price per headphone is?

@ gfa BT 116 T9F BT & 3 W &l
SR daar g N 52 s v vRAs i X @
e TS0 a=ar §1 3 99 av et Bl
Fel IfAAd A 8% ¢, A WA TP FT Heq
g?

(a) Rs 1250 (b) Rs 1075
JSFRs 925 (d) Rs 935




A shopkeeper sold two books together at

P “ Rs.1600 and the profit earned on second
Lt o book is 6% than th fit d
_’ 0O ook is 6% more than the profit earned on

y e  first book. If the total profit earned by the
«/. _‘31‘2 shopkeeper was Rs.200 and the cost price
of first book is Rs.400, then find the

C Pw'selling price of the second book.

A T gHEGR & AT 1600 F94 & ar fhrame dwar
‘1‘0 \ovQR 3R qadt frae W ugelt fFae & 6% ST

l M'msﬁ'{qﬁﬁﬁﬁﬂﬂmmo
=140 “

N= b | 0 g o qEdt a1 T Ao Aa w2

(a) Rs.1120 (b) Rs.1140 @)
(c) Rs.1180 T Rs. 1160



Ranjeet bought a book at Rs. 4000. He
marked it up by x% above the cost price
and then sold it at a discount of 10%.
Raghav also bought a book at Rs.2500 and
marked it up by x/2% above cost price and
then sold it at a discount of 20%. If the
sum of the selling prices of the two books
was Rs. 7440, then find the value of x?

g & v fFae 4000 399 & @O 364
_)W—uxwummﬁmﬁmm 10% # §e
W a° Ran wag F st v Fae F 2500
T4 # @der IR FAAT  X/2% IR AHfwd
frar 3R 20% #1 g I AT RAm IRy =
(b) 50 TramEl & AT FeT F1 AT 7440 F9F 4T AT
(d) 35 x 1 7 7 w1




A dealer offers a cash disc o % and

Bu" ; lq d_' 3 still makes a profit o(.: 20%) when he

further allows 16 articles to a dozen to

articularly sticky bargains how much
A 291 —_—

percent above the cost price were his ware

‘ ‘ ao Y. listed?

U Sio TF S 20% #T dhg P AT IAFY AT ¢
=% Wﬁﬂmzo%wmm%,magﬁ!h

Mp C-F ¥ ¥ WRaEsh F AT 16 awgHt F & goie @
,QO 60 FOF A IqATT a1 7, A 39S AT HT FE

v Hed ¥ fha« gfawa sfas 42
&) L) 150 200 Aoy,



A driver of auto rickshaw makes a profit
of 20% on every trip when he caries 3
ﬁ passengers and the price of petrol ia
3 litre. Find the % profit for the same

,.'.aq |Q journey if h:a goes fa w ssengers per trip
and the price of petrol steduw to Rs. 24

litres?
qg ?‘1 TS AEINFAT 3B TS 6T 20% H war
*f cp FATAT & 9T a7 3 TBE A vAF BT W @
ST § a9 i fwa 30 9 gfa e §
@ ar amer gfaera F4r1 g 34 g & v afg ag
(a) 20% (b) 33.33% 4 Y 9AF RRT W & J1ar § AR g
JorToo% (d) 65.66% e 24 T TRY MeT F FA @ T B2



A trader sells goods to a costumer at a

profit over the cost price, beside it
he cheats his customers by giving 880 gm
only instead of lkg. these him overall

/, \.""00 profit percentage is 25% then the value of
k?

330 \\oowwmmﬁmaﬂﬂmk%
420 F oW W a=ar § IR AEF 1kg N 880gm

dlera @ &ar § | 38T QU o 25% &

|0'/- ar k &T AT £?

(a) 8.33 (b) 8.25
Jor10% (d) 12.5%






